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Introduction
°

All exercises will follow this general schedule

Identify potential understanding problems
— Ask your questions
— Recap of the lecture

Address the understanding problems
— Answer your questions
— Repeat certain topics

Walk through the exercises/solutions — Some hints and guidance
— Work time or presentation of results



Recap of the Lecture
°

You have seen . ..
the and of TCP
how works in TCP

what is
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Describe two examples, where using the Transport Layer protocol
TCP makes sense.

Describe two examples, where using the Transport Layer protocol
UDP makes sense.

Describe what a socket is.
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The dlagram ShOWS the @ ACK=0 SYN=1 FIN=0 Seq=500 Ack=?
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information in the table for @
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to TCP messages 1. @ \

\ 4 \ 4
Message | ACK | SYN | FIN | Payload length | Seq number | ACK number
1 0 1 0 0 500
2 1000
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An application generates 40 bytes payload which is first packed into a single
TCP segment, and then packed into a single IP packet. What is the
percentage of header data in the IP packet and what is the percentage of
application generated payload?

Header data (protocol overhead) of TCP and IP

20 Bytes 20 Bytes 40 Bytes

IP packet of the Network Layer

IP header | TCP header Data of the application layer (message)

TCP segment of the Transport Layer
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